Mathematics (Science Group)  Paper: II fﬂ;,m’. I .g,,LJ,ﬂd,j;é (1%tA 224 -1IV)

3. Two tangents drawn to a circle from a ppint outside

it are of _inlength.
tiple £ (D) edual 44 (C)

4- 20°=___

" 1200' (D) 800" (C)
5 1f (3-2a,b-1)=(a=7,2b+5) then aand b are

10 10

I 3 -6 = L S
56 O b 6 (©)

8-~ Two linear factors of x?-15x+56=0 are
(x+7),(x+8) (0) (x=T),(x\-8) (C)
7. Mean is affected by change in

. i
value &4 (D) scale u"g,\;g, (©)

8- Line segment joining any paint of the circle to\;he centre is called

achord ki (D) diameter 4 (€)

9- The number of elements in the power set of {1, 2,3}is

) 6(C)
10- The solution set of 3y2 =y(y~5)is \\
5 \
{ 5} © (0} ©)\
11- if a:b= XY then invertendo property is
a X a+b x+y
= D —=——=(C)
a-b x-y X y

12- The length of the diameter of a circle is how many times

the radius of the circle?
1(D)

13- The nature of roots of equation ax? +bx+c=0

4(C)

is determined by
product of roots a1 S (B)

discriminant 0 (D)
14-  x=2
-+  —
A B B
e (D ——p— (C
x—l+x+l 12 x=-1 x+1

D)

o (o
I
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4. 1. Apair of chords of a circie subtending two congruent U e uinetiy Jr j o1
central angles are Lun L AT
congruent J& (D)  incongruent J L?‘/:z (©) overlapping J}' (8) parallel Jit¥ (A)
2- f3x+1:6+4x=2:5 thenx= . x= ?3x+l:6+4x=2:5/¢v<2
2 (D) 1(C) -1(B) 0(A)

JHJV&Cgu«;ﬁ&)ﬁLQﬂ)uﬂf‘ =3
_uji_n ;.LUL

double /% (B) half &7 (A)
< 44 df)' 20 .4
630" (8) 360' (A)
Ut Asbaiad (3-2a,b-1)=(a=7,20+5) J:
10 10
L) g~ =
3076 ® 7 oo

uj/'/’g&u\.g;:i x2o15%x+56=0 =l -6

(x+T)(x - 8) (B) (x=7),(x+8) (A)
9 V3 b PP IVIY 7 SR Tl g
rate /4 (B) place £ (A)
e bW F T Ly W& L 8
radius  Jbs (B) anarc UL (A)
o S kit e £11,2,3) -9
8 (A)
o e 3y =y(y-9) -10

S 5
{0 , —5} ®) {0,5} (")

c‘,:,-{"/f;a:b=x:y i
a X ) Xy
LuwLendddpLern L2
‘-'q.&:ﬂ'fz
3(B) 2 (A)
f(L:"u(u’uZ ax? +bx+c=0 =l 13
ereld

sum of roots s f;js/ (A)
25 ©
x—2
et~ (= Q)
A _B A Bl
x-1 x+! x-1 x+2
5L pxl4px+q=0 zhl-un P 0l S =18
-
_+—
o B

9 (B)

synthetic division
-14

(A)

q p
-~ (B -
p ® q
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Time: 2:10 Hours GFOUPZ I 2’ 2:10 s..j
H . T

Marks: 60
Note: Section 1 is compulsory. Attempt any THREE/(3) questions

Subjective (i &/r/——)/y 60 : /4
B)fedf e S o -4.6)1!‘)3",}0 o
-4 G I Ay At LS

from Section YI. However question No. NINE (9) is compulsory

Section I ;!}le_.g'

2- Write short answers to any SIX questions:

i- Define quadratic equation.

(2x6=

12)
-é‘;'/( .,?/]-J.pl:l/ o)

e Pl ®) el 2

ii- Find the value of x, 5"* =5 =0 s astr oo wpd dx i
iii- Solve  x2+2x-2=0 x2+2x-2=0 &S i
v- Find discriminant  x? ~23x +120=0 x?-23x+120=0 &£ M;J’J) -iv
V- Evaluate o™+ o PB+oV S
vi- Write the quadratic equation having roots 1, 5. @ i Bnne 1, 5J5u Vi
vii- Define third proportional. \\ E v i
Vill- Find the value of P if the ratios 2P+5 1 3P+4 | LR34 25 3Pra N e d (P i

and 3 : 4 are equal, \ \ .
\ -g{rPQJK?nx=3¢y:4/}'Y°¢%ﬁ -ix

. 1
X- ff y < 'x* and y = 4 when x = 3, find value of K.

ez F Lo &l 3

3 Write short answers to any SIX questions: 12)
i- What is meant by resultant fraction. \ tespe /S -
. 6x> +5x% -6 \ 6x° +5x2 -6
ii- Convert into proper fraction —————— - i Iy i
P ] e Z:Jyu’/.,-n !
ii- If A and B are two sets, then represent B— A \ Jd’.fut /'w»;(.'/“/ B-A jusniruBalA A i

in set builder notation.
iv-1f Y =2, T=0", thenfind TNY L TAY FT=07,Y=2" A v
v- Findaandbif (3-2a;b==(a=7,2b+5) 3-2a,b-1)=(a=7,26+5) fizl p#bala -v
vi- IfY = {-2, 1,2}, then make a binary relation for v x'Y \ -k SEia yxyiv=(2,12/ i
vii- Define Geometric mean. -c{ 4}'&»,1 w}*ﬂl ~Vii
viii- Find range for the weights of students el P i
110, 109, 84, 89, 77, 104, 74, 97, 49, 59, 103, 62 110, 109\ 84, 89, 77, 104, 74, 97, 49, 59, 103, 62
4 x |12] 5| 8|4 | pua LA ix

ix- Find harmonic mean | x (12| 5|8

4- Write short answers to any SIX questions:
. 2r
i~ Convert EY radian into degree.

i- Prove that tan 8+ Sec@ = Sec Cosec
|
iii- Find 'r' when 1=4cm , 9= = radian

iv- Define degree.

(Z130)

(2x6=12)

NI /u;, =

tan 0+ Sec® = Sech Cosecd é_y,v
f=4cm, O =%radian L
Ewf§h

iR
P

JE f NPl (6) & a.Jf 4

i

«iV




(2)
’ v{‘,,f/gc,,wfmgf -V
&%f”/% ey e BOT
S P i i
ol i

gone is 26cm. Find du Jéﬂ.{l& e (725 36 (J’f"_,_a i
S

v- What is meant by projection of a point?
vi- What is meant by secant line?
vii- Define circum angle.
viii- Define vertices.

ix- The perimeter of a reguler penta

length of its side.

(UJH 4 L7 g / 8 ZJw ) Section Il (1o

-q, ¢ (9) ),,’Jny(r
4254 292* +1=0 oL ff el () -5

7x2-3yt=4 £ JIomn (&)

Note: Attempt any THREE (8) questions
However question No. NINE (9) is compulsory
5. (a) Solve the equation 4. 2B 9 2% +1=0
(b) Solve the simultaneous equations 7%} -3y? =4
2t +5y =1 w5yt =1
o fenll Jw e s L ()

)

[}

6- (2) Solve by using theorem of componendo~dividendo

X 2w £l
NN 2 -9 x +Z M,'x —z
Vxt+2- Vxi-2 Jx? 42 \Jx -
. Ix+7 3x+7 p
(0) Resolve into partial fractions (2 4 y(x +3) et X+ ) Lfd-yu! U/ 67 (&)

7. (2) FU=(1, 2, 3, .. 10}, A=(2, 4,6, 8, 10} U=, 2,3, .. 10}, A={2, 4,6, 8,10}, Sl 7
B=(1,2, 3,4, 5,6) then show that A'AB =(AUBY AAB'=(AUB) & k781,23, 4, 5, 6}
(b) Find standard deviation 9,3.8.89,8,9, 18 938898918 é(}*’_il/'l i ()

. -1 , -1
8- (a) If Sme:’ﬁ-‘ and terminal side of the angle isnotin Pk g ¥ 0 .slis 51“937*2‘ Si (0 -8

quadrant IV, find the vatues of tane,cote,sece ‘/‘{f’b/"; J cosecd tan 8, cot 6,sec8

and cosecB
o BC,ABL W £ 18 &leo?hs 7§ AABC ()

(b) Circumscribe a circle about AABC with sides
L 338 JEH S CA

| AB|= 5cm,| BCl= 3em,| CA |=3em

g. Prove thata straight line, drawn from the centre of a g_,/__a,f'r"J(,u B2 5 Lf/(_, ‘/‘_‘_/I;fé_,-_b\ .9

cricle to bisect a ¢chord {which is not @ diameter) is e ks 3y 5 85 Uiy
perpendicular to the chord. ' "

OR b
Prove that any two angles in the same segment of a A (s @"1,"/: W 2B (5 L2 dr,;,-jg.{bu,‘t\

cirlce are equal. Sl
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Sooh S b Lol evn e Lo i i{.} 2 LlJwv s £ QVQLK -q,ti‘:{..: DAMC B¢ Al .fJ& s : <9
L 99 4 w2 0l wumJLf4/..rg Lf4fu:/f) ol efl 25 Kbl i

98}41’%&9:'](3&5.&(}%’(@4 I [ |

1-  1- The measure of the external angle of a regular hexagon is

n/6 (D) /4 (C) n/3 (B) n/2 (A

2- If a,Pare the roots of 7%° —x+4=0 then Jun Sw L Txl-x+4=0cbl- 0B A
ap is &4l of
-4/7 (D) 1/7 (©) 4/7 (B) -7 &)

3- The length of a chord and the radial segment of a cricle are Ut e U Sint 5 St LI 23
congruent, the central angle made by the chord will be K 2l d)} My e s
90° (D) 60° (C) - 45° (B) 30° (A

4-1fa :b = x : y, then alternando property is carfiina:b=x:y N4
afb=x/y ©) a/x =b/y (C) a+b=c+d (B) a~b=c—d (&)

5- A line which has only one point in common with a circle fi e L a6 15 g -5
is called of the circle. -of vy Kb
secant - (D) sine - (C) (B) tangent - (A)

8- The fourth proportional wof x : y :: v : w is eWerbUg UL xcynv:w -6
vy/x (D) xy/v (C) X[y A

7- Radii of a circle are s Lo ggl -7
all equal Az ¢ (B) all unequal st eV (A)
greater than diameter <% <. /5 (D) equal to diameter s L /5 <)

8- (x+3)2=x>+6x+9 is e K1 (x+3)P =X +6x+9 -8
a linear equation &lis Gk (B) an identity =L (A)
inequality bl (D) polynomial & ©

9- If 0< @< m/2 and Sin6—CosecH =0, 7 SinB—CosecB=0 ,» 056<m/2 fi .9
then 0= __ . s 44 0
90° (D) 30° (C) 60° (B) 80° (A)

10- @*= o = -10
o™ @) (@ 0™ (B ® (A)
11- The spread or scatterness of observations in a data set is called 4 Cld UL €t U2l u’( -1

median k- (D) mode L /C) mean ksl (B) dispersion /51 (A)

12- Solution set of (X ~4)(3x+5) =0 will be

€rsof In (x—H(3Bx+5)=0 S12

©) {--g- © —§~,—4 ®) 4} ®
13- The range of R={(1,3),(2,2),(3,1).(4,4)}Is o dn Range 'R* 7t R={(1,3),(2:2),(3,1),(4,4)) /1 -13
(1,2,3} D) {1,3,4)©) (1,2,3,4) (B) 2.3,4A)

14- An equation of the form 3* +3* ™ +6 =0 is a/an

radical equation  «hls (ke (B)

Lloe P 3 437X 4620 bl 14
exponential equation =t~ Sue s (A)

linear equation &bl 6.».{ (D) reciprocal equation =l u’);‘ (C)
15-fBC A, then B-A= B-A=____ inBcA /.15
¢ (D) b} © A (B) B (A)
112-(IV)-1%tA 224-75000 4{
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Time: 2:10 Hours Group: II w2 L & 2110 s
Marks: 60 Subjective (1 OU/ ~)~2Y 60 : U4
Note: Section I is compulsory. Attempt any THREE (8) questions  (3) u_c e Ji/ & uﬁr».p -y Uil o 12
from Section IE. However question No. NINE (9) is compulsory - S (9) s / J (7 v ggd' = Uiy
Section I iji’_—
2. Write short answers to any SIX questions. (2x6=12) Z //uuy/"‘z.’...wr(e) & o {f -2
i- Solve the equation x? =3x —4 =0 by factorization. éd’u’i,ﬂu S xt2-3x-4=0 bl -
ii- Write in the standard form %}— X;S =1 i:i = X;S =1 g’f’fu“ fu/gvfwv i
iii- Define exponential equation. -’:":’/ _y/JJc,w JV e d i
iv- Find discriminant x> +6x—1=0 2abx—1=0 &0 v
v- Evaluate (l—-(y)-i-(nz)6 ( —o+0%)° ’é:(r'}’“‘_wf -V
vi- Form a quadratic equation wfth roots 2,-6. U 2,-6 (Roots)Uw £ U b cwhils By Vi
vii- Define inverse variation. » -é .,y/jJJ;é”;J =Vii
viii- Find a mean proportional to 49 and 16. -é(}”wb’ﬂl& by K 16 5149 -viil
ix- if yOC;l(- and y =4 when x =3. Find K L Kin x =3 2y =4 Y°°'1— S
3 Write short answers to any SIX questions. (2x6=12) 25 ez Ly (6) Z.(.-,Jf -3
i- Define Partial Fraction. Ay NPPEAT
i- 1f f{%gi_z—) =—é“1 xfz then find the values of AU B AIAY Zx—%z;%+ x]j-2 S i
Aand B. gk o
i 1FX={1,4, 7,9}, Y={2, 4,5 9} then find XY W XUY IX={1,4,7,9,Y={24579) A i
and XY - U XnY
iv- Find aand b, if (a—4,b-2)=(2,1) (a-4,b-2)=@2,1) S pbsa -
v- Find the sets X and Y, if A Y alXer v
XxY ={(a,a), (b,a),(c,a),(d,a)} XxY ={(a,a),(b,a),(c.a),(d,a)}
vi- If L={a, b, ¢} and M={3, 4} then find two binary U~ LxM 7 M={3, 4} 4 L={a, b, c}/ -vi
relation in LxM . 2 iy BE
vii- Write De Morgan's Laws. AP ufl. 83 Vil
viii- Find Arithmetic mean 10, 14, 17, 20, 24,29, 35, 47 10, 14, 17, 20, 24, 29, 35, 47 .’Zf:/pj‘”}ml Ql} ~viii
ix- Define Median. I 11 ST
4- Write short answers to any SIX questions. (2x6=12) .oLli/"'LuUlr(S) ] ::,J:( -4
i Define radian measure of an angle. .:{J/‘"gf Ao J,.,IJ -
ii- Express 300° into radian. : e o4 f 300° i
iii- Find 6 when ¢=4.5m , r=250cm. w 0=45m , r=250cm £ g{r}” 6 _ii
iv- Simplify Esi—r;—);' ?:;z g
(2?.'6/’)




(2)
\

C/u/ —2 Y Ry I Y
Sl ovwl o i
&S e i

g S e i
KL/(P%J»?,*ML Eusu 30 ix

g o

V- Define right angle.

vi- Define tangent to a circle.
vii- Define cifcum angle.
viii- Define escribed circle.

ix- Write down the formula for finding the angle subtended by

the side of a n-sided polygon at the centre of the circle.

(u_:‘/ 4 L7500 8L ) Sectionl [ o

Note: Attempt any THREE (3) questions. However
question No, NINE (9) is compulsory.

4x—l_2]

4x+1 6

4x 31
4x —1

5- (a) Solve the equation

{b) Prove that

6- (a) Find a fourth proportional to
p’+q’,p*-q*,p*-pq+q’
9x ~17

b , . . I
(b) Resolve into partial fractions x+3)(x2+1)

7- (@) fU={1,23, ..., 10}, A={1, 3, 5,7, 9} and
B={2, 3, 5, 7} then verify (A" B)' =A'UB’
(b) The marks of six students in Mathematics are as
follows. Determine Variance

x> +y® +2° =3xyz= (X + Y+ 2)(x + 0y + 022)(x + 0%y + 0z)

- 4 (Q)Jf,}dlrﬂt‘éd'.&mf (8) £ Jf sk

4x+1 4x-1 _21

g =i
4x -1

Ix+1 % ’cf:rdaabl/‘ (i) -5

£ bt e g (L) 6
p*+q’,p*<q?,p? ~pq+q*

9x -7 5
el al FHUuAz ()

S U={1,2,3, ..., 10}, A={1, 3, 5,7, 9} J1 (i) _7
(ANBY =A'UB' £ =ik 7% B={2,3,5,7)
ut B3on Aulfe st s Lo g ()
S e S

Students 1 2 3

4 5 6 A

Makrs 60 70 30

9 | 80| 42 i

4
8- (a) If tanO= 3 and c0s0 <0 find the value of
remaining trigonometric functions at 9.
(b) Circumscribe a circle with regard to a right triangle
with sides 3cm, 4cm and 5cm.
9- Prove that if two chords of a circle are congruent, then
they will be equidistant from the centre.
OR

Prove that any two angles in the same segment of
a circle are equal.
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S Jgfjg}ﬂ cosO <0 tan@r% S -8
U g
FEul a3 ub § s L el aHatf L ()
& beosh e KU Ut

L@l Solr // 02 ¥ Us J‘U“ Sl e I /f',féf":."/l: <9

Loun

b
A (Bl Bl o7 B (5 ] 2 sty S EE e
Ul




